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dqy iz’uksa dh la[;k % 26 dqy i`"Bksa dh la[;k % 12 

Total No. of Questions: 26 Total No. of Pages: 12 

gkbZgkbZgkbZgkbZ    Ldwy ijh{kk] fnlEcj & 2017Ldwy ijh{kk] fnlEcj & 2017Ldwy ijh{kk] fnlEcj & 2017Ldwy ijh{kk] fnlEcj & 2017    

100 
fo"k; %fo"k; %fo"k; %fo"k; %    xf.kr xf.kr xf.kr xf.kr     

Subject: MATHEMATICS 

(Hindi & English Versions) 

le; % 03 ?k.Vs  iw.kk±d % 100 

Time: 03 Hours  Maximum Marks: 100 

 

funsZ’k%& funsZ’k%& funsZ’k%& funsZ’k%&         

    (i)    lHkh iz’u lHkh iz’u lHkh iz’u lHkh iz’u vfuok;Z gSaAvfuok;Z gSaAvfuok;Z gSaAvfuok;Z gSaA        

    (ii)        iz’u Øekad 1 ls 5 rd oLrqfu"B izdkj ds iz’u Øekad 1 ls 5 rd oLrqfu"B izdkj ds iz’u Øekad 1 ls 5 rd oLrqfu"B izdkj ds iz’u Øekad 1 ls 5 rd oLrqfu"B izdkj ds iz’u gSaA iz’u gSaA iz’u gSaA iz’u gSaA     

    (iii) iz’u Øekad 6 ls 26iz’u Øekad 6 ls 26iz’u Øekad 6 ls 26iz’u Øekad 6 ls 26    esa vkUrfjd fodYi fn;s x;s gaSAesa vkUrfjd fodYi fn;s x;s gaSAesa vkUrfjd fodYi fn;s x;s gaSAesa vkUrfjd fodYi fn;s x;s gaSA    

    (iv)    izR;sd iz’u ds fy, vkoafizR;sd iz’u ds fy, vkoafizR;sd iz’u ds fy, vkoafizR;sd iz’u ds fy, vkoafVr vad mlds lEeq[k vafVr vad mlds lEeq[k vafVr vad mlds lEeq[k vafVr vad mlds lEeq[k vafddddrrrr    gSaAgSaAgSaAgSaA            

Instructions: 

 (i) All questions are compulsory.   

 (ii) Q. No. 1 to 5 are objective types questions.  

 (iii) Internal options are given in Q. No. 6 to 26. 

 (iv) Marks allotted to each question are mentioned against the questions. 
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iz-1 lgh mŸkj pqudj fyf[k,&            ¼1¼1¼1¼1××××5555====5½5½5½5½    

 Choose the correct answer-  

 ¼i½ nks la[;kvksa dk ;ksx 25 vkSj vUrj 7 gks rks os la[;k,¡ gksxh& 

  (a) 20 vkSj 5    (b) 18 vkSj 7  

  (c) 15 vkSj 10    (d) 9 vkSj 16 

  If sum of two number is 25 and its difference is 7, then the numbers are- 

  (a) 20 and 5    (b) 18 and 7 

  (c) 15 and 10    (d) 9 and 16 

 ¼ii½ x = 7y esa x dk eku Kkr dhft, ;fn y dk eku 0 vkSj 1 gS& 

  (a) ± 7     (b) 0]&7 

  (c) 0] 7     (d) 3] 7 

  In x = 7y find the value of x if y is 0 and 1- 

  (a) ± 7     (b) 0, -7 

  (c) 0, 7     (d) 3,7 

 ¼iii½ ifjes; O;atd 
4x

26xx

2

27

+

−−  esa va’k dh ?kkr gksxh&  

  (a) 6     (b) 7  

  (c) 2     (d) 4 

  The degree of numerator in rational expression 
4x

26xx

2

27

+

−−
 

  (a) 6     (b)  7 

  (c) 2     (d) 4 

 ¼iv½ ifjes; O;atd 
2x

1x2

−

−  vkSj 
2x

1x2

−

+  dk ;ksx gS& 

  (a) 
2x

x2

−
     (b) 

2x

2

−
  

  (c) 
2x

x2 2

−
     (d) buesa ls dksbZ ugha 

  Sum of rational expressions 
2x

1x2

−

−
 and 

2x

1x2

−

+
 are- 

  (a) 
2x

x2

−
     (b)  

2x

2

−
 

  (c) 
2x

x2 2

−
     (d) None of these  



[100]                                          Page 3 of 12                                                   (24900)                       

 ¼v½ 36 vkSj 49 dk e/;kuqikrh gS& 

  (a) 6     (b) 7 

  (c) 42     (d) 
6

7
 

  The mid proportion of 36 and 49 is- 

  (a) 6     (b)  7 

  (c) 42     (d) 
6

7
 

iz-2 ,d 'kCn ;k ,d okD; esa mŸkj fyf[k,& ¼1¼1¼1¼1××××5555====5½5½5½5½    

 Write the answer in one word/sentence of each-  

 ¼1½ ,d ehukj ds vk/kkj ls 20 eh- dh nwjh ij ehukj ds f’k[kj dk mUu;u dks.k 45° 

gSA ehukj dh Å¡pkbZ D;k gksxh\ 

If at the distance of 20 meter from base of a tower the angle of elevation of top of the 

tower is 45° then what will be the height of the tower? 

 ¼2½ ,d csyu dk O;kl 14 lseh- rFkk Å¡pkbZ 7 lseh- gS rc csyu dk vk;ru D;k gksxk\ 

If diameter of a cylinder is 14cm and its height is 7cm, then what will be the volume 

of cylinder? 

 ¼3½ [kks[kys xksys dk vk;ru D;k gksrk gS\ 

What is the volume of hollow sphere? 

 ¼4½ ;fn ik¡p izs{k.kksa x, x + 2, x + 4, x + 6, x + 8  dk ek/; 11 gS rks x dk eku Kkr djksA 

If mean of five observations is x, x + 2, x + 4, x + 6 and x + 8 is 11.Then find the 

value of x. 

 ¼5½ ,d ikals dks Qsadus ij 4 ls cM+k vad vkus dh izkf;drk Kkr djks\ 

On tossing a dice find the probability of getting digit more then 4. 
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iz-3 fjDr LFkkuksa dh iwfrZ dhft,&         ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Fill in the blanks- 

 (i) ;fn nks f=Hkqtksa ds laxr dks.k cjkcj gks rks og f=Hkqt------------------------------------------------------------
--------------------------------------------------------------------------------------------------------------------------------------------dgykrh gaSA 

 If corresponding angle of two triangles are equal then, triangles are……… 

…………………………………………………………………………………………………. 

 (ii) nks le:i f=Hkqtksa ds {ks=Qyksa dk vuqikr 9%16 ds vuqikr esa gks] rks bu f=Hkqtksa dh 

laxr Hkqtkvksa dk vuqikr -------------------------------------------------------------------------------------------------------gksxkA 

If ratio of area of two triangles is 9:16 then ratio of their corresponding sides 

are…………………………………………………………………………………………… 

 (iii) f’k{kk midj dh izpfyr nj -----------------------------------------------------------------------------------------------------gSA 

 The rate of interest of educational cess is……………………………………………… 

 (iv) pØo`f) C;kt dk eku lk/kkj.k C;kt ls --------------------------------------------------------------------gksrk gSA  

  Value of compound interest is ………………………………………of simple interest. 

 (v) fdLrksa esa Hkqxrku jkf’k] uxn Hkqxrku dks jkf’k ls ---------------------------------------------------gksrh gSA 

  Amount paid in instalments is …………………………………than the cash payment.  

iz-4 fuEufyf[kr dh lgh tksfM+;k¡ cukb,&         ¼1¼1¼1¼1××××5555====5½5½5½5½ 
  

  ¼v½          ¼c½  

 (1) 
θcosec

1
    

θsec

1

22
+     cot θ 

 (2) sin (90° - θ)      tan2 θ  

 (3) sec2 θ - 1      cos θ 

 (4) θcos1
2

−       1 

 (5) 
θsec 

θcosec 
      sin θ  

 Match the correct pairs- 

  (A)       (B) 

 (1) 
θcosec

1
    

θsec

1

22
+     cot θ 

 (2) sin (90° - θ)      tan2 θ  

 (3) sec2 θ - 1      cos θ 

 (4) θcos1
2

−       1 

 (5) 
θsec 

θcosec 
      sin θ 
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iz-5 fuEufyf[kr esa lR;@vlR; Nk¡Vdj fyf[k,&         ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Write true or false in the following- 

 (i) oxZ lehdj.k dk fofoDrdj /kukRed gks rks ewy okLrfod gksrs gSaA 

  If discriminant of quadratic equations is positive then its roots are real.  

 (ii) ;fn nks o`Rrksa dh f=T;k,¡ leku gks rks os o`Rr lokZxle gksaxsA 

  If the radius of two circles are equal then the circles are congruent. 

 (iii) o`Rr dh lcls cM+h thok f=T;k dgykrh gSA 

  The largest chord of a circle is radius. 

 (iv) nh?kZ[k.M esa varfjr dks.k U;wu dks.k gksrk gSA 

  The angle formed at major arc is an acute angle. 

 (v) o`Rr dh leku thok,a dsUæ ij leku dks.k varfjr djrh gSA 

  Equivalent chords of a circle subtends equivalent angles at center. 

iz-6 fdlh ledks.k f=Hkqt esa d.kZ dh eku 5 lseh- gS] mldh 'ks"k Hkqtkvksa dk vuqikr 1 % 2 gS] 

mldh Hkqtkvksa dk eku Kkr dhft,A              ¼2½¼2½¼2½¼2½ 

 If hypotenuse of a right angled triangle is 5 cm and its remaining side are in ratio 1:2 then 

find values of sides. 

vFkok@vFkok@vFkok@vFkok@OR  

 f=Hkqt ABC  ,d lef}ckgq f=Hkt gS ftlesa AC = BC ;fn AB2 = 2AC2 rks fl) djks fd 

f=Hkqt ABC ,d ledks.k f=Hkqt gSA               

 ∆.ABC is an isosceles triangle in which AC = BC if AB2 = 2AC2 then prove that ∆ABC is 

right angled triangle.  

iz-7 nks le:i f=Hkqt ABC rFkk f=Hkqt PQR gSA buds {ks=Qy Øe’k% 36lseh2 rFkk 81 lseh2 

gSA ;fn QR = 4-5 lseh rks Hkqtk BC dk eku Kkr djks                ¼2½¼2½¼2½¼2½ 

 If ∆.ABC and ∆.PQR are two similar triangles. Its areas are respectively 36 cm2 and 81 

cm2  If    QR = 4.5 cm then find value of side BC. 

 



[100]                                          Page 6 of 12                                                   (24900)                       

vFkok@vFkok@vFkok@vFkok@OR  

 fdlh f=Hkqt ABC dh Hkqtk AB esa var% fcUnq D bl izdkj gS fd AD : DB = 3:2 Hkqtk BC esa 

fcUnq E bl izdkj gS fd DE || AC gks rks eku Kkr dhft, ∆.ABC dk {ks=Qy@ ∆BDE dk 

{ks=Qy              

 The internal point D is of the side AB of a ∆.ABC such that AD : DB = 3:2 A point E is 

onside BC. such that DE || AC then find value of area of ∆.ABC/area of  ∆BDE.  

iz-8 20 ehVj yEch ,d lh<+h ,d Hkou dh f[kM+dh rd ig¡pkrh gS tks Hkwfe ls 15 ehVj dh 

Å¡pkbZ ij gSA Hkou ls lh<+h ds fupys fljs dh nwjh Kkr dhft,A       ¼2½¼2½¼2½¼2½ 

 A 20 meter long ladder reaches upto window of a building which is 15 meter high above 

the ground. Find distance of lower end of ladder from foot of building. 

vFkok@vFkok@vFkok@vFkok@OR  

 ,d lh<+h bl rjg j[kh xbZ fd mldk fupyk fljk nhokj ls 5 ehVj nwjh ij gS vkSj 

mldk Åijh fljk tehu ls 10 ehVj Å¡ph f[kM+dh rd tkrk gSa lh<+h dh yEckbZ Kkr 

dhft,A               

 A ladder is placed in such a way that its lower end is at distance 5 meter from wall and its 

upper ends reaches at a window which is at height 10 meter from the ground. Find length 

of the ladder. 

iz-9 ;fn 6] 4] 7] x ,oa 10 dk ek/; 8 gS rks x dk eku Kkr dhft,A       ¼2½¼2½¼2½¼2½ 

 If mean of 6, 4, 7, x and 10 is 8 then find value of x. 

vFkokvFkokvFkokvFkok@@@@OR  

 fuEufyf[kr ekuksa dh ef/;dk Kkr dhft,&             

    15] 35] 18] 26] 19] 25] 29] 20] 27 

 Find the median of the following observations- 

 15, 35, 18, 26, 19, 25, 29, 20, 27 
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iz-10 ,d ik¡ls dks Qsadus ij le vad vkus dh izkf;drk Kkr dhft,A            ¼2½¼2½¼2½¼2½ 

 Find probability of getting even digits on throwing a dice. 

vFkok@vFkok@vFkok@vFkok@OR  

 nks flDdksa dks ,d lkFk mNkyus ij nksuksa flDdksa ij gsM vkus dh izkf;drk  Kkr   

dhft,A             

 Find probability of getting head on both if two coins are tossed. 

iz-11 fl) dhft, fd o`Rr ds dsUæ rFkk o`Rr dh thok ds e/; fcUnw dks feykus okyh js[kk o`Rr 

dh thok ij yac gksrh gSA                ¼3½¼3½¼3½¼3½ 

 Prove that the line joining the center of a circle to the midpoint of a chord of the circle is 

perpendicular to the chord. 

vFkok@vFkok@vFkok@vFkok@OR  

 ;fn o`Rr dh Li’kZ js[kk dh yEckbZ] tks o`Rr ds dsUæ ls 5 lseh- dh nwjh ij fLFkr ckº; 

fcUnw ls 4 lseh- gSA rks o`Rr dh f=T;k Kkr djksA          

 The length of a tangent drawn from external point 5 cm apart from the center of the circle 

is 4 cm. Find the radius of the circle. 

iz-12 fl) dhft, fd fdlh ckº; fcUnw ls [khaph xbZ Li’kZ j[kkvksa dh yEckbZ cjkcj gksrh gSA¼3½¼3½¼3½¼3½ 

 Prove that the two tangents drown to a circle from an external point are equal.  

vFkok@vFkok@vFkok@vFkok@OR  

 fl) dhft, fd v)Zo`Rr dk dks.k ledks.k gksrk gSA          

 Prove that the angle subtended in a semi circle is right angle.   

iz-13 fn, x, vkadM+ksa dk lekUrj ek/; Kkr djksA          ¼3½¼3½¼3½¼3½    

  

 

 

     Find the mean of the following distribution  

 

   

 

    

oxZ vUrjky 0&10 10&20 20&30 30&40 40&50 
vko`fŸk 7 10 15 8 10 

Class interval  0 - 10 10 - 20 20 - 30 30 - 40 40 - 50 

Frequency 7 10 15 8 10 
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vFkok@vFkok@vFkok@vFkok@OR  

  fuEufyf[kr vkadM+ksa dk cgqyd Kkr djksA              

  

 

 

      

 Find the mode of the following frequency table-  

 

   

 

 

iz-14 uhps fn, x, vkadM+ksa ls 1990 ds vk/kkj ij 1995 dk fuokZg [kpZ lwpdkad Kkr    

dhft,&            ¼3½¼3½¼3½¼3½    

 

 Calculate the cost of living index number for the year 1995 on the basis of 1990 from the 

following information-    

 

  

 

oxZ vUrjky 140&150 150&160 160&170 170&180 180&190 

ckjackjrk 4 6 10 12 9 

Class interval 140 - 150 150 - 160 160 - 170 170 - 180 180 - 190 

Frequency 4 6 10 12 9 

oLrq  A B C D E 

Ekk=k ¼fd-xzk- esa½  08 05 12 40 18 

ewY; ¼: esa½ 1990 o"kZZZZ    30 28 06 09 10 

izfr fd-xzk- 1995 o"kZZZZ    45 36 11 15 12 

Item  A B C D E 

Quantity (in Kg.)  08 05 12 40 18 

Cost per unit in ` In 1990 30 28 06 09 10 

Per kg In 1995 45 36 11 15 12 
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vvvvFkok@Fkok@Fkok@Fkok@OR  

 fuEufyf[kr ckjEckjrk caVu dk ek/; 49-5 gSA P dk eku Kkr djksA         

 

 

 The mean of following frequency distribution is 49.5. Find the value of P.     

  

 

 

iz-15 lehdj.k gy dhft,&          ¼4¼4¼4¼4½½½½    

 Solve equation- 

 7x – 2y = 1 

 3x + 4y = 15  

vFkok@vFkok@vFkok@vFkok@OR  

 fuEu lehdj.k fudk; dks gy dhft,&             

 Solve following system of equation- 

 x + 2y = -1 

 2x – 3y = 12 

iz-16 a  dk eku Kkr dhft, ftu ds fy, fudk; ax + y = 5, 3x + y = 1 dk vf}rh; gy gSA¼4¼4¼4¼4½½½½    

 Find value of a for which the system of equations ax + y = 5, 3x + y = 1 have a unique 

solution. 

vFkok@vFkok@vFkok@vFkok@OR  

 nks la[;kvksa dk ;ksx 7 gSA ;fn budk ;ksx buds varj dk 7 xquk gS rks la[;k,¡ Kkr 

dhft,A                

 The sum of two numbers is 7. If its sum is 7 times of its difference, then find the numbers. 

iz-17 ;fn 
3

7
    

yx

yx
=

−

+  gks rks x : y dk eku Kkr djksA            ¼4¼4¼4¼4½½½½    

 If   
3

7
    

yx

yx
=

−

+
then find the value of x : y 

 

oxZ vUrjky 25&35 35&45 45&55 55&65 65&75 
ckjackjrk 6 10 P 12 4 

Class interval 25 - 35 35 - 45 45 - 55 55 - 65 65 - 75 

Frequency 6 10 P 12 4 
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vFkok@vFkok@vFkok@vFkok@OR  

 ;fn 
d

c
    

b

a
=  gks rks fl) djks fd&            

    
2

2

22

22

d

b
    

dc

ba
=

+

+  

 If  
d

c
    

b

a
=  then prove that- 

 
2

2

22

22

d

b
    

dc

ba
=

+

+
 

iz-18 lehdj.k x2 + 3x – 18 = 0 dks xq.ku[k.M fof/k ls gy dhft,A       ¼4¼4¼4¼4½½½½    

 Solve following equations by factorization method x2 + 3x – 18 = 0 

vFkok@vFkok@vFkok@vFkok@OR  

 fuEu lehdj.k dks lw= fof/k ls gy dhft,& 

 Solve following equations by formula method- 

  8 -   
x

3
 -3x =     

iz-19 /kwi esa [kM+s ,d O;fDr dh Nk;k mldh Å¡pkbZ dh 3 xquh gks] rks ml le; lw;Z dk 

mUu;u dks.k D;k gksxk\         ¼4¼4¼4¼4½½½½    

 If shadow of a person standing in sunlight is 3 times of his height, then what will be the 

angle of elevation of sun at that time?  

vFkok@vFkok@vFkok@vFkok@OR  

 fdlh fcUnq ls 200 ehVj dh nwjh ij fLFkr fdlh Vkoj ds 'kh"kZ dk mUu;u dks.k 45° gks] 

rks Vkoj dh Å¡pkbZ Kkr dhft,A             

 The angle of elevation of the top from a point 200 meter away from the tower is 45°, find 

the height of the tower. 

iz-20 ;fn a yEckbZ] b pkSM+kbZ vkSj c Å¡pkbZ okys ?kukHk dk vk;ru V rFkk lEiw.kZ i`"B S gks rks 

fl) dhft, fd&             ¼4¼4¼4¼4½½½½ 

 A cuboid of length a, breadth b and height c has volume V and surface area S then prove 

that-    

  







++=

c

1

b

1

V

1
        

a

1
  

S

2
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vFkok@vFkok@vFkok@vFkok@OR  

 ,d csyu dk vk;ru 20π ?ku lseh- rFkk blds vk/kkj dk {ks=Qy 4π oxZ lseh- gSA bl 

csyu dk oØi"̀B Kkr dhft,A             

 Volume of cylinder is 20π cu. cm and its area of the base 4π sq. cm. Find out its curved 

surface. 

iz-21 4 lseh ckgjh f=T;k vkSj 2 lseh vkUrfjd f=T;k okys [kks[kys xksys dks fi?kykdj 8 lseh 

O;kl ds 'kadq esa ifjofrZr fd;k x;k gSA 'kadq dh Å¡pkbZ Kkr dhft,A      ¼4¼4¼4¼4½½½½    

 A Hallow sphere of outer radius 4cm and inter radius 2 cm is melted and converted into a 

cone of diameter 8cm. Find height of the cone.  

vFkok@vFkok@vFkok@vFkok@OR  

 rhu Bksl xksys ftudh f=T;k,¡ Øe’k% 3 lseh] 4 lseh vkSj 5 lseh gS mUgsa fi?kykdj ,d 

xksyk cuk;k x;kA xksys dh f=T;k ,oa vk;ru Kkr dhft,A            

 A solid sphere is made by melting three solid spheres of radii 3cm, 4cm and 5cm. Find the 

radius and volume of the solid sphere which is formed.  

iz-22 xq.ku[k.M dhft,            ¼5¼5¼5¼5½½½½    

 Factorize- 

 a2 (b + c) + b2 (c + a) + c2 (a + b) + 3abc 

vFkok@vFkok@vFkok@vFkok@OR  

 xq.ku[k.M dhft,                

 Factorize- 

 x (y2 + z2) + y (z2 + x2) + z (x2 +y2) + 2xyz 

iz-23 2000 : dk 10% izfro"kZ pØo`f) C;kt dh nj ls 2 o"kZ dk feJ/ku o pØo`f) C;kt 

Kkr dhft,A           ¼5¼5¼5¼5½½½½    
 Find amount and compound interest of `2000 after 2 years at the rate of 10% per annum.  

vFkok@vFkok@vFkok@vFkok@OR  

 ;fn dksbZ /ku 3 o"kks± esa  
125

216  xquk gks tkrk gS] tcfd C;kt dh x.kuk okf"kZd dh xbZ gS]  

 rks C;kt dh nj Kkr dhft,A            

 If any amount goes up to 
125

216
times in 3 years, calculate interest rate when it to be take as 

annual rate of interest.  
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iz-24 ,d la[;k vkSj mlds O;qRØe dk ;ksx 
7

50  gSA la[;k Kkr dhft,A      ¼5¼5¼5¼5½½½½    

 Sum of a number and its inverse is 
7

50
. Find the number.   

vFkok@vFkok@vFkok@vFkok@OR  

 ,d la[;k vkSj mlds O;qRØe dk ;ksx 
4

17  gSA la[;k Kkr dhft,A           

 Sum of a number and its inverse is 
4

17
. Find the number.   

iz-25 ,d f=Hkqt dh Hkqtk,¡ 4 lseh] 6 lseh vkSj 8 lseh gSA bldk ifjxr o`Rr [khafp,A jpuk ds 

in Hkh fyf[k,A           ¼5¼5¼5¼5½½½½    

 A Triangle has sides 4cm, 6cm and 8 cm. Draw a circum-circle to it. Write its composition 

also. 

vFkok@vFkok@vFkok@vFkok@OR  

 ,d leckgq f=Hkqt ds vUrxZr o`Rr [khafp, ftldh Hkqtk yEckbZ 8 lseh- gSA o`Rr dh f=T;k 

dk eki Kkr dhft,A              

 Draw a circle inside an equilateral triangle whose sides are of length 8 cm. Find measure 

of radius of the circle.  

iz-26 fl) dhft,              ¼5¼5¼5¼5½½½½    

 Prove that 

 A sec 2    
1 A  cosec

A cosec
    

1 -A  cosec

 2
=

+
+

Aeccos
 

vFkok@vFkok@vFkok@vFkok@OR  

 lehdj.k gy dhft,&                 

 Solve the equation- 

 θ=
−θ

θ
+

+θ

θ
 cos 6    

1  cosec 

 cos 3
   

1  cosec 

 cos 3 22

 

 

--------------------------------------- 


